Franz Danzi (1763-1826)

Quintett op. 56 No. 1 in B-Dur

Fagott

Allegretto =132

!
|
—Je 1D o

Z b
V

A
hall O/

16

>
>

—
—Je 1D

b

22

A
hall NI/

sl

oo b‘.' ==

HO

- .

4

1y
(Y

o

<

29

32

—Je 1D

38

A
hall I/
.4

45

—Je 1D 1

56

Py
»

i

=—

=

59

o’

N

—Je 1D

62

]
|

'—. i

i

oo 0

66

[ V]

—Je 1D

decresc.



Danzi op. 56 / 1 — Fagott

ba

a4

»

ha

3

PO

P>

71

hall NN/

)

PO

& he

he

>l
&

80

—Je 1D

rax

89

97

Lo

DO

—Je 1D
104
hall CHINVJ
112

)

V=

O

120
hall NN/

)

127
—Je 1D

o

|

134

n_'tn_'

2 0000

Py
[

> o
Yo, @@

137

140

rx

—Je 1D

145

)

hll OV

151




Danzi op. 56 /1 — Fagott

=126

Andante con moto .
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Menuetto allegretto .
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